bopita

ASSEMBLY INSTRUCTION UK MODEL :COMBIFLEX
MONTAGE HANDLEIDING NL TYPE :BASIC BED 90X200
MONTAGE ANLEITUNG D COLOUR WHITE

NOTICE DE MONTAGE F ART.CODE :430146.11.
MANUAL DE MONTAJE ESP

Distributor:

BOPITA
Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

31.05.2016.



N

<[ g x| o x P
(=)
o 3 < m [es) [ee]
o | I
i <
@ < R 0| o o
gl gl o gl N
9 o x | X| T
© g 9| ol g | 3§
) S| F 5| ™| § Q| &
X[ @ XX X X § =
o N < S 0| [=) =}
O — )| S
| O] i i LO|
o < < <
g 3 3 9l ¥ < 3
x| g g x| 8 < 9
Qg ¢ g w8 NS g
< S| § S o 3 | § E







bopita

ASSEMBLY INSTRUCTION UK MODEL :COMBIFLEX
MONTAGE HANDLEIDING NL TYPE :BACKSIDE STRAIGHT
MONTAGE ANLEITUNG D COLOUR WHITE

NOTICE DE MONTAGE F ART.CODE :410146.11.

MANUAL DE MONTAJE ESP

/*
\

Distributor:

BOPITA
Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

31.05.2016.









bopita

ASSEMBLY INSTRUCTION
MONTAGE HANDLEIDING
MONTAGE ANLEITUNG
NOTICE DE MONTAGE
MANUAL DE MONTAJE

o
\

Distributor:

BOPITA

Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

UK
NL

ESP

MODEL
TYPE
COLOUR
ART.CODE

:COMBIFLEX
:PROTECTION SIDE
WHITE
1412146.11.

31.05.2016.



1X

artcode: 445001

1X

artcode:

oX

2X|98X40

2X|M6X35

2X|M6
artcode: 441028 |artcode: 442004 |artcode: 44101 3 [artcode:

M6X100







1X

artcode: 445001

1X

artcode:

oX

2X|98X40

2X|M6X35

2X|M6
artcode: 441028 |artcode: 442004 |artcode: 44101 3 |artcode:

M6X100







bopita

ASSEMBLY INSTRUCTION UK MODEL :COMBIFLEX

MONTAGE HANDLEIDING NL TYPE :SUPPORTSET BUNKBED
MONTAGE ANLEITUNG D COLOUR WHITE

NOTICE DE MONTAGE F ART.CODE 1423146.11.

MANUAL DE MONTAJE ESP

1L

Distributor:

BOPITA

Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

04.07.2016.



&

6X

&

M6 6X

¥

M6X35 16X

&

8X

&

@8X40

4X

<

1X

artcode: 444003

artcode: 444004

artcode: 441013

artcode: 442013

artcode:

artcode: 445001













bopita

ASSEMBLY INSTRUCTION UK MODEL :COMBIFLEX

MONTAGE HANDLEIDING NL TYPE :STAIR STRAIGHT BUNKBED
MONTAGE ANLEITUNG D COLOUR WHITE

NOTICE DE MONTAGE F ART.CODE :483146.11.

MANUAL DE MONTAJE ESP

Distributor:
BOPITA
Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

31.08.2016.



1X

:445001

2X

artcode:442004 |artcode

-441013|artcode

441019 |artcode

M6X100 2X|M6X70 2X[M6X35 8X|98X40 2X|M6

artcode: 441028 |artcode




FNANY
Y/ |




bopita

ASSEMBLY INSTRUCTION
MONTAGE HANDLEIDING
MONTAGE ANLEITUNG
NOTICE DE MONTAGE
MANUAL DE MONTAIJE

UK
NL

ESP

MODEL
TYPE
COLOUR
ART.CODE

-

@ \/M y N\

O - /
8x ) 0

artcode: 972030 @ )

ONEERC B )
16x ' '

artcode: 972023 @ )

CEERC. B e )
24x . L '

artcode: 972021 )

Distributor:
LION INTERNATIONAL B.V,

Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

KEEP CAPS FOR FUTURE

:COMBIFLEX
:PLASTIC CAPS
:WHITE
1499146 11

S

09.01.2024.



	56014611 combiflex bunkbed stair straight
	Combiflex Basic Bed
	Combiflex Backside Straight
	Combiflex Protection Side
	Combiflex Bunkbed Support Set
	Combiflex Bunkbed Stair Straight

	49914611 I.S.plastic caps A4

